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Abstract

OV model is a nonlinear dissipative equation. The model has two kinds of solutions; one is
homogeneous flow solution, the other is moving cluster solution. In numerical analysis, a homogeneous
flow solution becomes unstable and a moving cluster solution appears, if a sensitivity parameter
exceeds a certain critical value. Using the continuum system derived from the original OV model, we
analytically show that the transition between the two solutions corresponds to Hopf bifurcation, which

is caused by asymmetric interaction.
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